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9056 9056.5 9057 9057.5 9058
cyclenum

7424

7424.5

7425

7425.5

7426

7426.5

7427

7427.5

7428

ru
n

run:cyclenum {run == 7426}

9056 9056.5 9057 9057.5 9058
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7426}



9056 9056.5 9057 9057.5 9058
cyclenum

78−

77.5−

77−

76.5−

76−

us
l_

1X
usl_1X:cyclenum {run == 7426}
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usl_coil1:cyclenum {run == 7426}
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9056 9056.5 9057 9057.5 9058
cyclenum

3727

3727.2

3727.4

3727.6

3727.8

3728

3728.2

3728.4

3728.6

3728.8

3729

3729.2

us
r_

co
il4
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9056 9056.5 9057 9057.5 9058
cyclenum

425.4−
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424.4−
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71−
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70−

69.5−

1X
_c

oi
l3
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